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Soluciones propuesta A 

1. a) 2 2sen cos sen cos 1
cos sen

α α = α + α =− α α  

 b) 2 2( ) ( ) 4x a x a x a x a ax
x a x a

+ − = + − − =− +  

 c) 2 3
3 0 1
1 1 1 ( 1) (1 ) (1 )

1 1

a
a a a a

a a

−
− = − − = −
−

 

2. 
2 4 2 3
2 4 2 3
2 4 2 3

k c f f k
h b e e h
g a d d g

+ +
+ + =
+ +

2 4 3
2 4 3
2 4 3

k c f
h b e
g a d

+  

 
2 4 2 2 3 2 2
2 4 2 2 3 2 2
2 4 2 2 3 2 2

k c k k f f k f k
h b h h e e h e h
g a g g d d g d g

+ + + =  

 2 4 3 0 0 0 24
k c f k h g
h b e c b a
g a d f e d

= ⋅ ⋅ + + + = =  

24 24 24 96
a b c a b cg h k

a b c g h k d e f
d e fd e f g h k

= − = = − = −  

3. 
1 1 1

sen sen sen
cos cos cos

α β γ =
α β γ

 

sen sen sen sen sen sen
cos cos cos cos cos cos

β γ α γ α β= − + =β γ α γ α β

( )
( )
( )

sen cos cos sen

sen cos cos sen

sen cos cos sen

sen( ) sen( ) sen( )

sen( ) sen( ) sen( )

= β γ − β γ −
− α γ − α γ +
+ α β − α β =
= β − γ − α − γ + α − β =
= β − γ + γ − α + α − β

 

 4. 
3 1
2 1

1 1
1 0 ( )

0 ( )1

F F
F F

d e de d e de
e c ec c d e c d

c e d c ec d cd

−
−

+ +
+ ⎯⎯⎯⎯→ − − =

− −+
 

 1( ) ( )( )
( ) 1

ec d e c d c d c e
c e d c e d

− − = − − =− −  

 ( )( )( )c d c e d e= − − −  

5.  
2 1
3 1

4 1

1 1 1 1 1 1 1 1
1 1 1 1 0 0 0

1 1 1 1 0 0 0
1 1 1 1 0 0 0

F F
F F

F F

a a
b b

c c

−
−

−

+ ⎯⎯⎯⎯→ =+
+

 

 
0 0

1 0 0
0 0

a
b abc

c
= − ⋅ = −  

 

 
6. 

1 2 3 0
1 5 2
3 4 9

A k
k k k

− 
 =
 − + 

 

 3 0 6 0 rg( ) 2
5 2

A= ≠  ≥  

 
1 3 0
1 5 2 0,
3 9k k

=
+

 

 2
2 3 0

5 2 3 12 0 2,  2
4 9

k k k k
k k k

−
= − + ≠  ≠ ≠ −

− +
 

 Si { }2,  2 rg( ) 3k A∉ −  =  

 Si { }2,  2 rg( ) 2k A∈ −  =  

7. 2
1 0 1 1
0 3 4 3 0

34 1

m
m m m

mm

− == − + − =   =−
 

 Si { }1,  3 0m A A∉  ≠   tiene inversa. 

 Si 0 3m A=  = −  

 1

1
1 0

3
4

4 1
3

1
0 0

3

A−

 
 
 
 = − −
 
 
 
 

 

8. 

2 3

2 2
1
3 2 1 2 3
3 2 2 1 3
1 1 1 1

x x x
x x x x

x x x
+ + →

+ +
 

4 3
3 2

2 1

2 3 2

2 2
1 1
3 2 2 1 2 2
3 1 1 1
1 0 0 0

C C
C C

C C

x x x x x
x x x x
x x x

−
−

−

− − −
− − −⎯⎯⎯⎯→ =
− − −

 

21 ( 1) ( 1)
( 1) 2( 1) ( 1)( 1) 2 ( 1)

1 1 1

x x x x x
x x x x x x

− − −
= − − − + − − =  

2

3
1

( 1) 2 1 2
1 1 1

x x
x x x= − − + →  

3 2

2 1

2

3
1 1

( 1) 2 1 1
1 0 0

C C

C C

x x x
x x x−

−

− −
⎯⎯⎯⎯→− − − − =  

5 61( 1) ( 1) 0 1
1 1

xx x x= − − = − =  =  
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Soluciones propuesta B 

1. a) sen cos 2sen cos sen2
sen cos

α − α = α α = αα α  

 b) 22 2 2 ( )x a x a a ax a x a
x a x a

+ − = − + = −− −  

 c) 2 2 2
a a a
a b b a b a c ab abc
a b c

= − − +  

2. 
a b c a b c
d e f d e f
g h k g h k

− − −
= − − − − =

− − −
 

 100
d e f
a b c
g h k

− − −
= − − − =

− − −
 

3. 
1 1 1

2
e e e e e
e e e e e

−π π −π π −π

−π π −π π −π
+ + =
+ +

 

 
3 2

1 1 1

0 0

F F

e e e e e
e

−
−π π −π π −π

−π
= + + =  

1 1
e

e e e
−π

−π π −π= =
+

 

 ( )e e e e−π π −π −π= + − =  

 0 1e e e−π π= = =  

4. a) 
3 1 1
6 2 2 1 2 (3 1) 2 2 1 2
3 1 1 1 1

k k k k k
k k k k k k
k k k k k

+
+ + = + +
+ + +

 

  
2 1
3 1

2 1
(3 1) 0 1 0 3 1

0 0 1

F F
F F

k k
k k

−
−⎯⎯⎯⎯→ + = +  

  
1

0
3

A k=  = −   

 b) Existe ( ) 1
( )A k

−
 si 

1

3
k ≠ − . 

  ( ) 1
1 0 0 1 0 0

(0) 2 1 0 (0) 2 1 0
1 0 1 1 0 1

A A
−

   
   =  = −
   −   

 

5. 
1 2 1 2
3 4 3 4
5 6 5 6

x x x x
x x x x
x x x x

+ +
+ + = =
+ +

 
1 2

2 20 2 2 0
4 40 4 4

x
x= = =  

 

6. 
1 1 2 1
3 1 2

2 2 0 1
1 1 1 1

mA
m

−= =+ − −
−

 

 

1 3
2 3

4 3

3 3 2 3
5 1 2 2

2 2 0 1
0 0 1 0

C C
C C

C C

m
m

+
+

+

+= =+ − −
−

 

 
1 2

3 2

1 1 1 0 1 0
3 5 1 2 3 4 1 1

2 2 1 4 2 1

C C

C C
m m

m m

−

−
= + = + =

+ − − + −

 4 13 3 ( 5)
4 1

m m m
m

+= − = ++  

 Si { }0, 5 0 rg( ) 4m A A∉ −  ≠  =  

 Si 0m = , 

1 1 2 1
3 1 2 0
2 2 0 1
1 1 1 1

A

 
 −=  − −
 − 

 

 
1 2 1

2 1 2 0,   1 2 0 3 0 rg( ) 3
2 0 1 1 1

A= − ≠ − = ≠  =
−

 

 Si 5m = − , 

1 1 2 1
3 1 2 5
3 2 0 1
1 1 1 1

A

 
 − −=  − − −
 − 

 

1 2 5
0 1 1 0,   2 0 1 7 0 rg( ) 3
1 1 1 1 1

A
− −− = − ≠ − − = − ≠  =− −

 

7. a) 
1 1 1

0 2 1 ( 1)(3 4)
0 2

k
A k k k

k

− −
= − = − −   

  
1

0 4

3

k
A

k

=
=   =

. Existe 1A−  si 
4

1,  
3

k
 ∉  
 

 

 b) 2k =  1

1
0 1

2
1

1 2
2

0 1 0

A  −

 − 
 
 = −
  
 

 

8. 
1 2 3 4

1 8 1 1 1 8 1
1 1 8 1 1 8( 10)
8 1 1 1 1 1
1 8 1 1 8 1

C C C C
x

x xx
x x

x x

+ + +
= +  

 2( 10)( 8) ( 6) 0x x x= + − + =  

 Soluciones: 10,  6, 8 (doble)x x x= − = − =  

 


